








Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P

P, Q, R, S, T, U के रूप में लेबल ककए गए छह 

बक्से एक स्टैक (ऊर्ध्वाधर व्य्स्थव) के रूप में रख ेगए 

थे लेककन जरूरी नहीं कक इसी क्रम में हों। प्रत्येक बॉक्स 

को एक अलग रंग में किकित ककयव गयव ह।ै बक्सों के रंग 

नवरंगी, पीले, बैंगनी, नील, लवल और नीले थे लेककन 

जरूरी नहीं कक इसी क्रम में हों। S और T के मर्धय दो 

किब्बे हैं। S, नील के किब्बे के ठीक नीिे ह।ै लवल और 

बैंगनी बक्सों के बीि दो किब्बे हैं। P को नवरंगी किब्बे के 

ठीक नीिे रखव गयव ह।ै किब्बव Q कव रंग लवल नहीं ह।ै 

T को S के ऊपर नहीं रखव गयव ह।ै Q और इकंिगो 

बॉक्स के बीि के्ल नीलव बॉक्स रखव गयव ह।ै पीले 

किब्बे को ढेर के नीिे से तीसरे स्थवन पर रखव गयव ह।ै 

पीलव बॉक्स U के नीिे रखव गयव ह।ै



Six boxes labelled as P, Q, R, S, T, U were kept in the 

form of a stack (vertical arrangement) but not 

necessarily in the same order. Each of the boxes is 

painted in a different colour. The colours of the boxes 

were orange, yellow, purple, indigo, red and blue but 

not necessarily in the same order. There are two 

boxes between S and T. S is immediately below the 

indigo box. There are two boxes between the red and 

purple boxes. P is kept immediately below the orange 

box. The colour of box Q is not red. T is not placed 

above S. Only blue box is kept between Q and the 

indigo box. The yellow box is kept third from the 

bottom of the stack. The yellow box is kept below U.

Which of the following boxes is placed at the top of 

the stack?

1.Q 2.U 3.S 4.T 5.P



E     J     O      T       Y

5    10    15    20     25

G     N     U      

7     14     21         

C   F   I    L     O    R    U    X

3    6   9  12   15   18   21  24



Opposite Alphabets:-

A-Z A to Z

B-Y Boy

C-X Crax

D-W Dew

E-V Love

F-U Uff

G- T G.T. Road

H- S High School

I-R Indian Railway

J -Q Jaipur Queen

K-P Kanpur

L-O Love

M-N Man



In a Certain code CAB is written as 6 , LEG is written as 6

than find the code for MAP ?

एक निनित कोड में CAB का कोड 6 निखा गया है , LEG का कोड 6

निखा गया है तो MAP का कोड क्या होगा ?

(1) 6

(2) 4

(3) 3

(4) 8



In a Certain code BALL is written as 8 , CANE is written as 

8 than find the code for YELL ?

एक निनित कोड में BALL का कोड 8 निखा गया है , CANE का

कोड 8 निखा गया है तो YELL का कोड क्या होगा ?

(1) 125

(2) 139

(3) 144

(4) 61



In a Certain code CAB is written as 12 , FED is written as 

30 than find the code for HIDE ?

एक निनित कोड में CAB का कोड 12 निखा गया है , FED का कोड

30 निखा गया है तो HIDE का कोड क्या होगा ?

(1) 58

(2) 68

(3) 52

(4) 72



In a Certain code X is written as 11 , ACT is written as 11

than find the code for TALL ?

एक निनित कोड में X का कोड 11 निखा गया है , ACT का कोड 11

निखा गया है तो TALL का कोड क्या होगा ?

(1) 18

(2) 19

(3) 17

(4) 11



In a Certain code SPOT is written as 10762 , than find the 

code for FARM ?

एक निनित कोड में SPOT का कोड 10762 निखा गया है , तो FARM

का कोड क्या होगा ?

(1) 611813

(2) 6194

(3) 6914

(4) 4691



In a Certain code READ is written as 7 , than find the 

code for HEAR ?

एक निनित कोड में READ का कोड 7 निखा गया है , तो

HEAR का कोड क्या होगा ?

(1) 32

(2) 33

(3) 7

(4) 8



In a Certain code ACEG is written as NPRT , than find the 

code for ADGJ ?

एक निनित कोड में ACEG का कोड NPRT निखा गया है , ADGJ तो

का कोड क्या होगा ?

(1) NQTW

(2) NQTV

(3) NRTW

(4) NRUX



In a Certain code GATHER is written as UBHQDG , than 

find the code for DESIGN ?

एक निनित कोड में GATHER का कोड UBHQDG निखा गया है , 

DESIGN तो का कोड क्या होगा ?

(1) EFTMFH

(2) TEEHFM

(3) TFEMFH

(4) TFEOHJ



In a certain code language,

‘sky man mars laptop’ is coded as ‘tm ir mo az’ 

‘tax no man mars’ is coded as ‘mo bn st ir’ 

‘tax word mars laptop’ is coded as ‘cd az mo bn’ 

‘sky laptop image relax’ is coded as ‘tm az yj yx’.

Which of the following word is coded as ‘yx’?

निम्िनिनखत में से नकस शब्द को 'yx' के रूप में कोनडत नकया गया है?

(1) word                       

(2) laptop                       

(3) no

(4) Tax                       

(5) None of these



In a certain code language,

‘sky man mars laptop’ is coded as ‘tm ir mo az’ 

‘tax no man mars’ is coded as ‘mo bn st ir’ 

‘tax word mars laptop’ is coded as ‘cd az mo bn’ 

‘sky laptop image relax’ is coded as ‘tm az yj yx’.

What may be the code of ‘word orange’?

‘word orange’’का कोड क्या हो सकता है?

(1) st ir

(2) cd mo                       

(3) ir bn

(4) mo ir

(5) cd qw



In a certain code language,

‘sky man mars laptop’ is coded as ‘tm ir mo az’ 

‘tax no man mars’ is coded as ‘mo bn st ir’ 

‘tax word mars laptop’ is coded as ‘cd az mo bn’ 

‘sky laptop image relax’ is coded as ‘tm az yj yx’.

What will be the code of ‘relax’?

‘relax’ का कोड क्या हो सकता है?

(1) yj

(2) as                       

(3) yx

(4) Either (1) or (3)                       

(5) None of these



“people  want  hero” is written as “30   80   60 ”

“Apple” is written as “ 25”

What is code for “IBPSPO” के निए संभानित कोड क्या होगा? 

(1) 60

(2) 70

(3) 80

(4) 90

(5) NOT



“people  want  hero” is written as “30   80   60 ”

“Apple” is written as “ 25”

What is code for “RRBMAINS” के निए संभानित कोड क्या होगा? 

(1) 150

(2) 152

(3) 802

(4) 889

(5) NOT



PO , SALT  , MAN is written as       31  ,  39    ,  27

What is the code for ‘APPLE’/ 'APPLE' के लिए कूट क्या है

A. 22

B. 23

C. 24

D. 25



, 

PO , SALT  , MAN    is written as       31  ,  39    ,  27

What is the code for ‘BANANA’/ BANANA के कलए कूट क्यव है

A. 1

B. 3

C. 4

D. 5



“people want  hero” is written as “19   56   6 ”

“you want  leave” is written as “-11    56   23 ”

What is code for ““JOKER ” के निए सभंानित कोड क्या होगा? 

(1) 16

(2) 20 

(3) 19

(4) 10

(5) 18



“people want  hero” is written as “19   56   6 ”

“you want  leave” is written as “-11    56   23 ”

What is code for ““MASTER ” के निए संभानित कोड क्या होगा? 

(1) 61

(2) 60 

(3) 91

(4) 64

(5) 12



‘known life happy friend’ is written as ’ 12  7  24 14 ’ 

‘moon white happy child’ is written as ‘ 2  18  24  9 ’’ 

‘Apple’ could be a code for which of the following?

‘Apple’ के निए संभानित कोड क्या होगा? 

(1) 12

(2) 14

(3) 15

(4) 11

(5) NOT



‘known life happy friend’ is written as ’ 12  7  24 14 ’ 

‘moon white happy child’ is written as ‘ 2  18  24  9 ’’ 

‘BANANA’ could be a code for which of the following?

‘BANANA’ के निए संभानित कोड क्या होगा? 

(1) 12

(2) 13

(3) 15

(4) 11

(5) NOT



G P Y B is written as 12  18  30  4 . 

W Q O T is written as 30 20 18 24. 

What is the code for ‘M’ के कलए कूट क्यव है

(1) 13 

(2) 14 

(3) 12 

(4) 16 

(5) 18



G P Y B is written as 12  18  30  4 . 

W Q O T is written as 30 20 18 24. 

What is the code for ‘U’ के कलए कूट क्यव है

(1) 28 

(2) 14 

(3) 22 

(4) 24 

(5) 18



HERO , BOY , GIRL   is written as  5BI ,  7BI  ,  3FA    

What is the code for ‘CAR’/ 'CAR' के कलए कूट क्यव ह ै

A. 4DA

B. 4DI

C. 5GI

D. 9HU

E. None



HERO , BOY , GIRL   is written as  5BI ,  7BI  ,  3FA    

What is the code for ‘mains’ के कलए कूट क्यव है

A. 4DAA

B. 4DAD

C. BAAF

D. 2AAF

E. None



“We  she  man ” is written as “48   208  2758 ”

“papa” is written as “4118  ”

What is code for “ear” के निए संभानित कोड क्या होगा? 

(1) 5838

(2) 5836

(3) 4859

(4) 3982

(5) NOT



“We  she  man ” is written as “48   208  2758 ”

“papa” is written as “4118  ”

What is code for “eye” के निए संभानित कोड क्या होगा? 

(1) 155

(2) 183

(3) 485

(4) 398

(5) NOT



‘game you they know’ is written as ‘37 39 42 74’

‘luck give for ruin’ is written as ‘38 53 57 61’

‘Win of cricket great’ is written as ‘31 49 54 79’

‘we match place right’ is written as ’38 55 63 72’

Which of the following is the code for ‘we’?/ ‘we’ के कलए कूट क्यव है

(1) 38                       

(2) 72                       

(3) 63

(4) 55                       

(5) 54



‘game you they know’ is written as ‘37 39 42 74’

‘luck give for ruin’ is written as ‘38 53 57 61’

‘Win of cricket great’ is written as ‘31 49 54 79’

‘we match place right’ is written as ’38 55 63 72’

What does the code ‘39’ stands for?/ ‘39’ के निए सभंानित कोड क्या होगा? 

(1) Game                 

(2) You                  

(3) They

(4) Know                 

(5) Luck



In a certain code language-

‘game you they know’ is written as ‘37 39 42 74’

‘luck give for ruin’ is written as ‘38 53 57 61’

‘Win of cricket great’ is written as ‘31 49 54 79’

‘we match place right’ is written as ’38 55 63 72’

‘know place’ can be written as? / ‘know place’ के निए संभानित कोड क्या होगा? 

(1) 63 63                  

(2) 37 38              

(3) 63 34 

(4) 37 63                  

(5) None of these



Seven persons A, B, C, D, E, F and G have different 

heights and likes different colours such as Red, Blue, 

Orange, Green, Pink, Yellow and Black. D is shorter 

than only 3 person. A is taller than one who likes Orange 

colour but shorter than the one who likes Black. E is 

taller than one who likes Orange colour and does not 

likes Black colour. F does not like Blue and Green 

colour. B neither likes Red and Pink colour. The one 

who likes Pink colour is taller than who likes Yellow 

colour. The one who likes Red is not the tallest person. 

G does not like Green colour. E is taller than only two 

person. B is second tallest person does not like Green 

colour. D does not like Orange colour. F does not the 

tallest person. C is the shortest person. The one who 

likes yellow colour is taller than who likes Black colour. 

The one who likes Black colour smaller than F who is 

taller than the one who likes Red colour. 

सवत व्यकि A, B, C, D, E, F और G की ऊंिवई अलग-अलग ह ै

और उन्हें अलग-अलग रंग पसंद हैं जैसे लवल, नीलव, नवरंगी, हरव, 

गलुवबी, पीलव और कवलव। D के्ल 3 व्यकि से छोटव ह।ै A, नवरंगी

रंग पसंद करने ्वले से लंबव ह ैलेककन कवलव रंग पसंद करने ्वले से 

छोटव ह।ै E उस व्यकि से लम्बव ह ैकजसे नवरंगी रंग पसंद ह ैऔर कजसे

कवलव रंग पसंद नहीं ह।ै F को नीलव और हरव रंग पसंद नहीं ह।ै B न 

तो लवल और गलुवबी रंग पसंद करतव ह।ै गलुवबी रंग पसंद करने 

्वलव व्यकि, पीलव रंग पसंद करने ्वले व्यकि से लम्बव ह।ै लवल रंग 

पसंद करने ्वलव व्यकि सबसे लम्बव व्यकि नहीं ह।ै G को हरव रंग 

पसंद नहीं ह।ै E के्ल दो व्यकियों से लम्बव ह।ै B दसूरव सबसे लंबव

व्यकि ह ैकजसे हरव रंग पसंद नहीं ह।ै D को नवरंगी रंग पसंद नहीं ह।ै F 

सबसे लंबव व्यकि नहीं ह।ै C सबसे छोटव व्यकि ह।ै ्ह व्यकि कजसे 

पीलव रंग पसंद ह,ै ्ह कवलव रंग पसंद करने ्वले व्यकि से लम्बव ह।ै 

्ह व्यकि कजसे कवलव रंग पसंद ह,ै ्ह F से छोटव ह,ै जो लवल रंग 

पसंद करने ्वले से लंबव ह।ै



Seven persons A, B, C, D, E, F and G have different 

heights and likes different colours such as Red, Blue, 

Orange, Green, Pink, Yellow and Black. D is shorter 

than only 3 person. A is taller than one who likes Orange 

colour but shorter than the one who likes Black. E is 

taller than one who likes Orange colour and does not 

likes Black colour. F does not like Blue and Green 

colour. B neither likes Red and Pink colour. The one 

who likes Pink colour is taller than who likes Yellow 

colour. The one who likes Red is not the tallest person. 

G does not like Green colour. E is taller than only two 

person. B is second tallest person does not like Green 

colour. D does not like Orange colour. F does not the 

tallest person. C is the shortest person. The one who 

likes yellow colour is taller than who likes Black colour. 

The one who likes Black colour smaller than F who is 

taller than the one who likes Red colour. 



A certain number of persons are sitting in 

the row. All of them are facing towards 

south. Q sits sixth from the right of S. T 

sits forth to left of Q. Only two persons sit 

between Q and P. Six persons sit between 

W and V. R sits forth to the left of S. U 

sits between S and T. V sits second to the 

left of U. W is third from any of the end. 

S is eight from the left end of the row.

पंकि में कनकित संख्यव में व्यकि बैठे हैं। उन सभी कव 

मखु दकिण की ओर ह।ै Q, S के दवयें से छठे स्थवन

पर बैठव ह।ै T, Q के बवयें बैठव ह।ै Q और P के 

बीि के्ल दो व्यकि बैठे हैं। W और V के बीि 

छह व्यकि बैठे हैं। R, S के बवई ंओर बैठतव ह।ै U, 

S और T के बीि बैठतव ह।ै V, U के बवई ंसे दसूरे 

स्थवन पर बैठव ह।ै W ककसी भी छोर से तीसरे स्थवन 

पर ह।ै S पंकि के बवए ंछोर से आठ्वं ह।ै



A certain number of persons are sitting in 

the row. All of them are facing towards 

south. Q sits sixth from the right of S. T 

sits forth to left of Q. Only two persons sit 

between Q and P. Six persons sit between 

W and V. R sits forth to the left of S. U 

sits between S and T. V sits second to the 

left of U. W is third from any of the end. 

S is eight from the left end of the row.


